1.	a	Write down and simplify an algebraic expression for the perimeter of this triangle.


�


b	Write down and simplify an algebraic expression for the perimeter of this rectangle.


�


/5


2.	x is an integer. Write down the greatest value of x for which 2x < 7.


/1


3.	Use a trial and improvement method to solve the equation


x3 - x = 15





Complete the working below and find a solution correct to 1 dp.


�


/3


5.	The volume, V, of the barrel is given by the formula


�EMBED Equation.3����EMBED Equation.3���		�EMBED Equation.3���= 3.14, H = 60, R = 25 and r = 20.





Calculate the value of V. 


Give your answer correct to 3 significant figures.


/3


7.	a	Simplify


	i    12x5 ( 3y3 				ii    (4p2q3)2


	        9x2y





	





b	Factorise completely


	i   9a2b3 + 15a3b2				ii	x2 + 7x - 60





c	On a number line, like the one below, show the solution to these inequalities.		-7 (  2x - 3 < 3 


�


/11


8.	Solve the simultaneous equations


	3x + 2y = 11


  	x - y = 7


/3


9.	a	Make y the subject of the equation x + 2y = 6


   b	On graph paper, draw the line with equation  x + 2y = 6


   c       On your graph, shade the region for which  


x + 2y ( 6, 0 ( x ( 4 and y ( 0.


/6


Total marks:  32�
:  Answers








1.	a)   a + 1 + a + 2 + a + 3 = 3a + 6


b)   2(2b + 3) + 2(3b - 1) = 10b + 4


/5





2.	3


/1





3.	2.53 - 2.5 = 13.125


2.63 - 2.6 = 14.976


2.73 - 2.7 = 16.983


so x = 2.6


/3





5.	(( ( 60)/3000 ( (2 ( 252 + 202) = �(( ( 60)/3000 ( 1650 = 103.67...


3.14 ( 103.62


3.142 ( 103.68..


22/7 ( 103.71..


so V = 104


/3





7.	a)	i) 4x3y2


	ii) 16p4q6


b)	i) 3a2b2(3b + 5a)


	ii) (x + 12)(x - 5)


c)  


�





/11





8.	3x + 2y = 11


2x - 2y = 14


Adding gives


5x = 25 so x = 5


Substituting gives


15 + 2y = 11


so 2y = -4


therefore y = -2


/3





9.	a) 2y = 6 - x  or  x/2 + y = 3; �EMBED Equation.3����EMBED Equation.3��� or �EMBED Equation.3���	                                     (B)





b)   e.g.(0,3 ), (6, 0), (2, 2), (4, 1)	    (C)


c)


�		                                                    (B)


/6











Total marks:  32
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